Key to Worksheets 13.3 B and 14-3B
[bookmark: _GoBack][image: ]


[image: ]
[image: ]
[image: ]

[image: ]
image4.png
1
cosé

1 _seco+osco
ino

secl+ cscH=sech+ cscl




image5.png
5. 2sinfcosé cotd =

2sin 6 cos - =22 o =2cos?6

siné@

1+cot & _
ootb'(sinb'+oosb')7

cos 6
siné@

1+

cos (siné +cos 8)

siné@

sin @ +cos &
sin &
cos @ (sin & + cos 8) =
sin &
siné +cos & _ 1
oosﬁ(sin49+oosﬁ)7cosﬁ

7. cos*6— sin*6+ sin?6 = (cos?6 + sin’6)
(coszbL sinzb') + sin25(1) (coszbL sinzb')
+sin’6= cos’d

8. 9.6°




image1.png
Practice B

1.75°

3. —290°
5.300°

. 2 s

9. Iz radians

"

10

12

431
——radians
3

—rradians
210°




image2.png
Practice B
1. sin’g+sin°g cot’=1
sin0 (1 + cot?d) = 1
sin@ (csc?0) =1

s|n29[ il J:1
sin’e

1=1
2. cot?d cos’6= cot?d - cos’6=

cos?6 2, c0s’@ sin?6cos’e
- —cos’g=—— -T2 T
sin? 6 sin? 6 sin? 6

cos? 9 —sin g cos?e  c0s* 6 (1-sin’6)
sin? 6 B sin? g
>
[°°5 9)(17 sin?8) = cot? 6 (1-sin” 6) =

sin’ 6

cot?6 (cos?6 + sin®6— sin®6) = cot’6 cose
3. tan’¢— tan°g sin*6=sin’0

tan6 (1 — sin%6) = sin’g

tan?6 (cos?6) = sin’e

2
SN0 (5052 6) =sin? 6
cos?0
2
(sin26) 20 —sinte
cos?0

2

sin%6= sin%6





image3.png
4 SNOXCOSE_ g, osco
Sin6cos6

sin 6 4 cos 8
sin@cosé siné cosé

sing) 1
sing Jcos
1 1
+——()=secé +csc o
cosé  sing

=secé +cscé

9 )-seco+csco
6

)




